FHE (20214) EdLiBEEFEE

e | RBEL RRTE [Rig %iE FEED | (BF)—MREF
EiE(a) |4HES (k)| Eifi(a) |£EE (k)| EHf(a) [FEE (k)| BEE ke |FHAIEEER(ha)

f (255397 10 100 70 2,380 7,390 | 325,160 220 10,839
IZLDOR & 180 -
BEDIFL 10 100 320 10,880 37,460 | 1,648,240 780 54,941
AoKYAC 10 100 60 2,040 5260 | 231,440 300 7,715
BIFHOE 10 100 40 1,360 3,520 | 154,880 220 5,163
BHUY H 130 4,420 15,430 | 678,920 220 22,631
IFLFES 80 -
AtiDE 120 -
EUVHY 200 8,800 240 293
HPUVH 100 -
ErKYA 260 -
ZhpE 10 100 20 680 1,640 72,160 260 2,405

1S &L 760 33,440 200 1,115
22 320 14,080 340 469
==L9< 10 100 160 -
Zopi-h 40 1,360 3,450 | 151,800 240 5,060
ZHED 50 1,700 4,890 | 215,160 120 7,172
F<B£545 1,720 75,680 200 2,523
BEDFLH 30 1,020 2,690 | 118,360 124 3,945
E-pELL 10 100 30 1,020 1,460 64,240 174 2,141
F-5<KbB 20 680 400 17,600 87 587

B 70 700 | 810 | 27540 | 86,590 | 3,809,960 4,625 126,999
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FHE (20214) EdLiBEEFEE

s | nEL R [Ri&E Rz FEED | (BF)—ME
EiE(a) |4HES (k)| Eifi(a) |£EE (k)| Eif(a) [FEE (ke)| HEE ke |FHIAIEEER(ha)
ESNE
X2/hAY - - 50 1,800 2,159 77,724 285 864
=3 EH 70 1,470 4,320 | 155,520 | 158,209 | 6,170,151 8,504 77,127
wHEMS - - 990 35,640 35,310 | 1,271,160 1,839 14,124
25%%% - - 26 936 - - 295 -
FER5E 20 420 - - 100 3,600 420 45
&t 90 1,890 5386 | 193,896 | 195778 | 7,522,635 11,343 92,159
sx=z |/NLASH - - 150 3,150 3,850 92,400 850 770
BLE 275 3,300 2,120 44,520 49,238 | 1,181,712 7,471 9,848
x5E5Y 160 1,920 380 7,980 7,450 | 178,800 2,112 1,490
&t 435 5,220 2,650 55,650 60,538 | 1,452,912 10,433 12,108
grexz YE555 - - 30 675 310 7,750 288 52
LE25 - - 340 7,650 6,340 | 158,500 2,412 1,057
&t 370 8,325 6,650 | 166,250 2,700 1,108
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FHE (20214) EdLiBEEFEE

s | nEL RRTE [Rig 5iE FEED | (BF)—ME
EiE(a) |4HES (k)| Eifi(a) |£EE (k)| Eif(a) [FEE (ke)| HEE ke |FHIAIEEER(ha)

XE |[PHDDS 5 60 20 240 230 4,140 68 52
YL LR A - - 10 120 270 4,860 49 61
BII97 - - 10 120 10 180 35 2

A =:D)] - - 40 480 760 11,400 72 190
REUYH - - 20 240 120 1,800 54 30
LA - - 170 2,040 4,050 60,750 276 1,013
=TAY]%! - - 20 240 350 5,250 102 58
axkRwL - - 840 10,080 38,956 | 584,340 410 6,493
a3F7HRTLR 70 840 900 10,800 25,322 | 379,830 886 4,220
LEHIE - - 270 3,240 9,537 | 143,055 453 2,384
EEPN i - - 30 360 730 10,950 72 183

PN OF 5 60 70 840 2,850 42,750 103 713
LWhiKa 15 180 170 2,040 4,567 68,505 425 856
AXTILR - - 80 960 3,430 51,450 63 1,286
aAXT XA - - 310 3,720 12,050 | 180,750 271 4,519
LEFEED - - 170 2,040 3,166 47,490 396 528

&t 95 1,140 3,130 37,560 | 106,398 | 1,597,500 3,735 22,586
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FHE (20214) EdLiBEEFEE

s | nEL R [Ri&E Rz FEED | (BF)—ME
EiE(a) |4HES (k)| Eifi(a) |£EE (k)| Eif(a) [FEE (ke)| HEE ke |FHIAIEEER(ha)

NG |[TYEIVX 30 360 420 6,300 6,840 | 102,600 677 2,565
I!E167 - - 330 4,950 6,470 97,050 415 2,426
E-DHELED - - 90 1,350 1,650 24,750 155 619

LwEY 10 120 80 1,200 550 8,250 233 206
E2FA 20 240 740 11,100 13,520 | 202,800 1,175 5,070
E-F5 - - 20 300 120 1,800 134 36

FhRE ST 10 120 - - 120 1,800 161 36
ELHARE - - 210 3,150 2,115 31,725 402 635
IFENAME - - 12 180 300 4,500 31 90
+&E1705 - - - - 50 750 19

B 70 840 1,902 28,530 31,735 | 476,025 3,383 11,702
AZAES [ALIBIRTE - - 30 360 450 6,750 90 113
K& - - 10 120 60 900 107 15

& _ - - 40| 480 | 510 7,650 197 128
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FHE (20214) EdLiBEEFEE

s | nEL R [Ri&E Rz FEED | (BF)—ME

EiE(a) |4HES (k)| Eifi(a) |£EE (k)| Eif(a) [FEE (ke)| HEE ke |FHIAIEEER(ha)

WAIFA | KIE &R 240 2,400 1,710 20,520 13,333 | 199,995 6,423 2,222
tEEn - - 120 1,440 540 8,100 472.00 74

izt 145 1,450 1,430 17,160 7,634 | 114,510 4,864 954

L=k A 30 300 150 1,800 630 9,450 487.00 95
BEREH 140 1,400 560 6,720 2,810 42,150 1,922 351
MEEE - - - - - - 159 -
EFT - - - - - - - -
EFC 20 200 250 3,000 3,020 45,300 386 412
#B/TIFES - - 60 720 720 10,800 36 154
'BIFH 20 200 80 960 160 2,400 292 48
Ef-Ayy - - 30 360 309 4,635 335 93
N - - - - 60 900 373 18
REEXE 5 80 20 360 200 3,600 78 60
BRE - - 30 540 220 4,620 135 42
ABTE - - 20 360 250 5,250 23 48

&t 600 6,030 4,460 53,940 29,886 | 451,710 15,985 4,570

ZIE [F27EYN 100 900 1,229 11,061 4,736 42,624 2,759 710
*4/3iay - - 20 180 150 1,350 23

LS/ h%Y - - 240 2,160 396 3,564 59
FHIYE - - 800 7,200 - - -

gt 100 900 2,289 20,601 5,282 47,538 2,759 733
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2 REFH
e KFE)

EH5397 ELORH
RER R IR #2(100kg/10a) JR72(340kg/10a) F£72(440kg/10a) RS JRIR#2(100kg/10a) TR72(340kg/10a) F£72(440kg/10a)
U EfiG) [4EEk)| miEe |LEEke| BHG | AEEkKY | EGe) |[4AEEkY| mREGe) |fEECke| @Ee | RSk
ZH 10 100 70 2,380 7,390 325,160 5
B a¥
S ES
i3]l LIl
B 10 100 70 2,380 7,390 325,160 B
BIEDIEL SoKYAC
ER R IR #2(100kg/10a) JR32(340ke/10a) F£72(440kg/10a) R JRIR#2(100kg/10a) TR#2(340kg/10a) F£72(440kg/10a)
U i) [4EEk)| miEe |LESke| EHG | AEEkKY | EfG |[4EEk)| mRe |fEEke| @Ee | EEEkKe
i) 10 100 220 7,480 22,190 976,360 )| 10 100
B 20 680 2,540 111,760 o
ES 2,270 99,880 B 60 2,040 5,260 231,440
]} 80 2,720 10,460 460,240 il
i 10 100 320 10,880 37.460 | 1,648,240 B 10 100 60 2,040 5,260 231,440
BIFHDE BHUYH
ER R IR 2(100kg/10a) JR32(340ke/10a) F£72(440kg/10a) . JRIR#2(100kg/10a) TR#8(340kg/10a) F£72(440kg/10a)
| mie |[£EEke| @EiEe |FEEke| BEiEG | FEEkK T EG | £EEke| @RGe |EEEkY| EE( | FESkKe
g 10 100 1,650 72,600 ZE5 130 4,420 15,430 678.920
a8 a5
LI 40 1,360 1,870 82,280 LIl
E 10 100 40 1,360 3,520 154,880 B 130 4,420 15,430 678,920
IELFED BwEUMY
FER [ [R5 (100kg/10a) [ #2(340ke/10a) F£72(440kg/10a) R R [#78(100kg/10a) R 72(340kg/10a) F£72(440kg/10a)
V| EiGe) [4EEKe)| @miEGe) |4EEke)| BEEGe | £EEke) V EEe [EEEke| EiEGe) |4EEKe)| BEGe | £EEke)
g 225
B L5
IES kid=]
LI LI 200 8,800
i g 200 8,800
HPOUVH KD 2
FER [ [72(100kg/10a) [R5 (340kg/10a) %78 (440kg/10a) B R 32(100ke/10a) [R78(340kg/10a) F£72(440kg/10a)
V| EHGe) [4EEKe)| ®EiEGe) |FEEke)| BB | £EEke) T EHEGe) [EEEK)| EiEe) |[4EEke)| BB | £EEke)
5 5
aE L5
bid=] ES
LIl LIl
YA zonE
FER [R IR #2(100kg/10a) [ #2(340kg/10a) F£72(440kg/10a) R JRJR#2(100kg/10a) R #2(340kg/10a) F£#2(440kg/10a)
T EEe) [4EEke)| EHEG) | 4EEkKe| @@ | £EEKe) TP EHe [£EEke)| BEG |EEEkKY| EikGe) | EESke
25 225 10 100 20 680 1,640 72,160
ax =t
LIl 3|
Fi i 10 100 20 680 1,640 72,160




1SR 28
RER R IR #2(100kg/10a) JR72(340kg/10a) F£72(440kg/10a) RS JRIR#2(100kg/10a) R72(340kg/10a) F£72(440kg/10a)
U Efie) [4EEk)| miEe |LEEke| EHG | AEEkKY | EGe) |[4AEEkY| mREGe |fEECke| @Ee | EEBkKe
ek s| |
R 760 33,440 B
& S 320 14,080
Il LI
g 760 33,440 B 320 14,080
E1E RS 50 =h
ER R IR #2(100kg/10a) JR32(340ke/10a) F£72(440kg/10a) . JRIR#2(100kg/10a) TR72(340kg/10a) F£72(440kg/10a)
U i) [4EEk)| miEe |LESke| BHG | AEEkKY | EfG |[4EEk)| mRe |fEEke)| @Ee | AEEkKe
=50 10 100 =5
B ¥ 40 1,360 3,450 151,800
i IS
LIl LI
£ 10 100 E 40 1,360 3,450 151,800
F<B£535 ADFHE
ER R IR #2(100kg/10a) JR32(340ke/10a) F£72(440kg/10a) . JRIR#2(100kg/10a) TR#8(340kg/10a) F£72(440kg/10a)
| miEe |[£EEke| EiEe |FEEke| BEiEG | FEEkK U] Ee |[£EEke| @HGe |EEEkY| BB | FESkKe
2250 1,720 75,680 5 140 6,160
a8 a5
]| il 30 1,020 2,550 112,200
z 1,720 75,680 B 30 1,020 2,690 118,360
EELL E5<E5
RER [R5 (100kg/10a) R #2(340kg/10a) F£78(440kg/10a) R R 38(100kg/10a) R 72(340kg/10a) F£72(440kg/10a)
V| e [4EEke)| miEGe) |FEEke)| BEEGe | £EEke) V EEe [EEEke| EiEGe) |4EEKe)| BB | FEEke)
5 10 100 630 27,720 g |
B L5
IES kid=]
LI 30 1,020 830 36,520 L1 20 680 400 17,600
z 10 100 30 1,020 1,460 64,240 B 20 680 400 17,600
AHFED KiE &t
FER [ [R5 (100kg/10a) [R5 (340kg/10a) %78 (440kg/10a) EEE JRJR#%(100kg/10a) [R#%(340kg/10a) $£#2(440kg/10a)
V| EiGe) |[AEEke| @EiEGe |4EEke| BEEG) | FEEkKe V| e [£EEke| mHGe) |4AEBEKe| BHEG | FESkKe
| 50 1,700 4,890 215,160 25 70 700 490 16,660 55680 | 2,449,920
B a¥F - - 60 2,040 6,750 297,000
ES ES - - 60 2,040 345,400
LI 3]l - - 200 6,800 16,310 717,640
F 50 1,700 4,890 215,160 E 70 700 810 27,540 86,590 | 3,809,960




(e MFES/IE)
x5/ h%Y) =T (F

fmpzl RS 210ke/10a [R%& 360kg/10a 118 360kg/10a pmpzl FRIE 210ke/10a [R1E 360kg/10a 1218 390kg/10a

HEiE(a) |4EE ()| HEiE(a) [4ES(e)| HEiE(a) [HES kel HEiE(a) |4ES (k)| WEih(a) |HES (k)| FElhi(a) |HES (ke)|
225 - - - - 949 34,164 2250 70 1,470 120 4,320 4706 | 183534
" - - - - - - EaEsi - - - - 457 17,823
®E - - - - - - ®E - - 60 2,160 2,805 109,395
B - - - - - - iR - - - - - -
L1 - - - - - - 21l - - - - 300 11,700
£ - - - - 110 3,960 il - - 380 13,680 15500 | 604,500
1f-v9 - - - - 300 10,800 1hk-v9 - - 1,910 68,760 51,041 | 1,990,599
+ B - - 50 1,800 800 28,800 + 8 - - 1,850 66,600 83,400 | 3,252,600
F - - 50 1,800 2,159 71,724 E 70 1,470 4320 | 155520 | 158,209 | 6,170,151

BHEMS 25EH

EEezl FURE 210ke/10a [53% 360kg/10a 1238 360kg/10a pmpz|  JRRIE 210kg/10a 3% 360kg/10a $£18 360kg/10a

HmiE(a) |4EE ()| HiE(a) |4ES ()| HEiE(a) |4ES kel HmiE(a) |4ES (k)| EiE(a) |4ES (k)| HEiE(a) |HES (ke)|
225 - - 200 7,200 5530 | 199,080 2250 - - - - - -
¥ - - 140 5,040 5,200 187,200 a5 - - - - - -
- _ _ _ _ B B . _ _ B B _ _
i - - 80 2,880 2,080 74,880 | BB 4R - - - - - -
il - - - - - - A1) - - - - - -
£ - - 100 3,600 2,370 85,320 Il - - - - - -
) - - 200 7,200 5430 | 195,480 V) - - 26 936 - -
|+ - - 270 9,720 14700 | 529,200 |+ - - - - - -
F - - 990 35,640 35310 | 1,271,160 g - - 26 936 - -

LRSS EENE S

pams| BUEIE 210kg/10a [5i#E 360kg/10a {218 360kg/10a Jp—— B B X

Hifia) |4ES g)| TG |£ES (k)| Hif(a) |[FES kg Eif(a) |4ES (keg)| WfE(a) [£FESE (ke)| EH() |EESE (kg)
5 20 420 - - - - 5 90 1,890 320 11,520 11,185 416,778
aF - - - - 100 3,600 a¥F - - 140 5,040 5,757 208,623
#E - - - - - - #& - - 60 2,160 2,805 109,395
EE - - - - - - iEE - - 80 2,880 2,080 74,880
=1} - - - - - - &l - - - - 300 11,700
£ - - - - - - £ - - 480 17,280 17,980 | 693,780
A=y - - - - - - Ak=v9 - - 2,136 76,896 56,771 | 2,196,879
+B% - - - - - - 8 - - 2,170 78,120 98,900 | 3,810,600
& 20 420 - - 100 3,600 ) 90 1,890 5,386 193,896 195,778 | 7,522,635




(fehe BHFEEIE)
AV =Ny ] BLE
EmE | BRERE 120ks/10a [R1& 210kg/10a 118 240kg/10a FEE | RIRE 120ke/10a [R1& 210kg/10a 1218 240kg/10a
HEiE(a) |4EE ()| HEiE(a) [4ES(e)| HEiE(a) [HES kel HEiE(a) |4ES (k)| WEih(a) |HES (k)| FElhi(a) |HES (ke)|
5 30 630 1,450 34,800 sk 31| 275 3,300
a5 120 2,520 2,400 57,600 a5 190 3,990 5930 | 142,320
®E ®E 1.800 43,200
B iR
A&l LAl 500 12,000
£ il 420 8,820 10,600 | 254,400
1f-v9 1h=v% 1,510 31,710 30408 | 729,792
1 5%
F - - 150 3,150 3,850 92,400 ) 275 3,300 2,120 44,520 49238 | 1,181,712
Z5E5Y BFE/NE Qit
EEE [RIR7E 120kg/10a [R1& 210kg/10a $£18 240kg/10a FRB £ RiE RiE
HmiE(a) |4EE ()| HiE(a) |4ES ()| HEiE(a) |4ES kel HEiE(a) |4ES (k)| EiE(a) |4ES (k)| FEiE(a) |HES (ke)|
225 160 1,920 130 2,730 3,050 73,200 2250 435 5220 160 3,360 4,500 | 108,000
a5 Lt - - 310 6,510 8330 | 199,920
i3 #& - - - - 1,800 43,200
| BB{R i - - - - - -
[4&Li 11| - - - - 500 12,000
£ 250 5250 4,400 | 105600 £ - - 670 14,070 15000 | 360,000
-y 1h=v% - - 1,510 31,710 30408 | 729,792
| B |+ B% - - - - - -
&t 160 1,920 380 7,980 7450 | 178,800 g 435 5,220 2,650 55,650 60,538 | 1,452,912
(%8 FFEEXRE)
Y&EI55 HLE2E
ipmm | BURHE 120ke/10a [5i#E 225kg/10a 218 250kg/10a pmps | BURIE 120ke/10a [E#E 225kg/10a %18 250kg/10a
Hifia) |HES g)| EHiG |£ES (k)| Hif(a) |[FES kg Eifi(a) |HES (keg)| TEfi(a) [£FES (ke)| HEHEG) |EES kg)
5 - 250 -
a8 B%F
25 BB
=1} 10 225 60 1,500 il
£ £ 120 2,700 1,740 43,500
Aih—v9 20 450 250 6,250 Ak=v9 220 4,950 4,600 115,000
s +B%
& - - 30 675 310 7,750 E - - 340 7,650 6,340 | 158500
BFEAE &5t
FER RIRTE Rz &
i) |4EE (k)| EiE(a) |FES (k)| EHE(a) |HES (ko)
ZEH - - - - - -
aE - - - - - -
#%E - - - - - -
BBiR - - - - - -
1l - - 10 225 60 1,500
£ - - 120 2,700 1,740 43,500
1h=v% - - 240 5,400 4850 | 121,250
8 - - - - - -
i - - 370 8,325 6,650 | 166,250




(1E% KE)

BHDD% YIVLARA
EEp | FRE 120kg/10a 27 120kg/10a 27 180kg/10a wmp | FRE 120ke/10a R 120kg/10a %1% 180kg/10a
HEif(a) |HES ke | FE(a) [HES ()| () [FES (ke) Hif(a) |HAESe)| BEHE(a) |HEE )| FtE(a) |[FESE ke)
25 5 60 250 - 10 120 170 3,060
a1 a3
ik JiEE
LES ES
Ll 20 240 230 4,140 48 100 1,800
Ll Il
AH—vY A=Y
+B +B%
E 5 60 20 240 230 4,140 ) - - 10 120 270 4,860
ARI95 nyeny
pms | BEE (20ke/10a [51% 120kg/10a 218 180kg/10a rmg | BERE 120ke/10a [5E 120kg/10a %18 150kg/10a
Eif(a) |EER(ke)| WEi(a) |[EES (k)| TEHE(a) |HES (kg) Hif(a) |£EESke)| BEifi(a) |HEEE )| FE(a) |[FES ke)
225 - 25D
aE a3
iR KL
ES 10 120 10 180 g
kil o 1
Ll Ll
k-9 A=y
|8 |+ 40 480 760 11,400
E - - 10 120 10 180 i - - 40 480 760 11,400
WEYY M FLRA
pms | _BUEIE 20ke/10a [51% 120kg/10a 218 150kg/10a jpmm | BBRIE 120ke/10a [5#E 120kg/10a %18 150kg/10a
Eif(a) |EESg)| Fl(a) |[FES(e)| FiE(a) [EES ko) Hif(a) |£EESkeg)| BEif(a) |EEEe)| FE(a) |EES (ko)
25 - 250 - 80 960 2,580 38,700
B3 20 240 120 1,800 B 30 360 340 5,100
i3l % 10 120 100 1,500
BB R JiEE
ES ES
i1} il 20 240 280 4,200
Il I 30 360 750 11,250
-9 A5—99
T8 T
E - - 20 240 120 1,800 B - - 170 2,040 4,050 60,750
=PAY]%;] ) o d %2
EmEp | EEE 120kg/10a [57E 120kg/10a 1278 150kg/10a mmp | FERE 120ke/10a 3% 120kg/10a $%3% 150kg/10a
Eif(a) |FER(e)| FEii(a) |[FEE(ke)| EHE(a) [4ER (ko) | Ef(a) |4ERE(ke)| FEfi(a) [HFER(kg)| EHE(a) |HEFER (kg)
5 - 25D - 250 3,000 15352 | 230,280
aF B 50 600 950 14,250
®E % 30 360 830 12,450
BB HR EE
EE ES
Ll Li={1l)
Il Il 350 4,200 15000 | 225000
1H—v9 1h—yY 50 600 1,724 25,860
+ B 20 240 350 5,250 B - 110 1,320 5,100 76,500
i - - 20 240 350 5,250 F - - 840 10,080 38,956 | 584,340




i d LEHDE

EEp | FRE 120kg/10a [R7E 120kg/10a 2% 150kg/10a wmp | FRE 120ke/10a A% 120kg/10a $%%% 150kg/10a
HEif(a) |HAESe)| FE(a) [HES ()| () [FES (ke) Hif(a) |HAESe)| BEiE(a) |HEE )| FtE(a) |[FESE ke)
25 70 840 250 - 30 360 870 13,050
a¥F ak 20 240 550 8,250
®RE 40 480 1,170 17,550 ®RE
ik JiEE
LES ES
|4l k1]
i3] 40 480 3,980 59,700 il
1h-v9 #h-v9 110 1,320 4,987 74,805
+ i 820 9,840 20,172 | 302,580 + 110 1,320 3,130 46,950
E 70 840 900 10,800 25322 | 379,830 E - - 270 3,240 9537 | 143,055
X+ 1FRYLURI820aIZ IR ARTEEEDH D,
HEAHM i [OF
spms | BEIE (20ke/10a [51% 120kg/10a 218 150kg/10a fpmg | BERE 120ke/10a [5E 120kg/10a %18 150kg/10a
Eif(a) |EER(ke)| Ei(a) [EES (k)| TEHE(a) |HES (kg) Hig(a) |EES k)| BEifi(a) |HEEE )| FE(a) |FES (ke)
ZH 5 5 60
a5 =L
% %
LR B
kil kit
Ll Ll
k-9 A=Y
| B 30 360 730 10,950 |+ 70 840 2,850 42,750
£ - - 30 360 730 10,950 i 5 60 70 840 2,850 42,750
[AY AT RXTILR
pms | _BUEIE 20ke/10a [51% 120kg/10a 218 150kg/10a jpmpm | BBRIE 120ke/10a [5#E 120kg/10a %18 150kg/10a
Eif(a) |EESg)| Ff(a) |[FES (e)| FiE(a) [EES ko) Eif(a) |£EESkeg)| BEif(a) |EEEe)| EE(a) |EES (ko)
25 15 180 20 240 640 9,600 250 60 720 2,630 39,450
a8 b=k
BE R JiEE 20 240 800 12,000
ES ES
i1} 30 360 950 14,250 i1l
Il 20 240 1,500 22,500 I
-9 A5—99
T 100 1,200 1,477 22,155 +B%
E 15 180 170 2,040 4,567 68,505 B - - 80 960 3,430 51,450
LY. EEFEEM
EmEp | EEE 120kg/10a [57E 120kg/10a 1278 150kg/10a mmp | FERE 120kg/10a 3% 120kg/10a $%3% 150kg/10a
Eif(a) |4ER(e)| FEiE(a) |[FEE (k)| EHE(a) [4ER (ko) | Ei(a) |4FERE(ke)| FEfi(a) [HFER(kg)| FEHE(a) |HEFER kg)
25 - 100 1,200 3,890 58,350 2250 - 70 840 1,950 29,250
aF 80 960 2,300 34,500 B
B HR EE
EE EE
Ll Li={1l)
Il Il 40 480 150 2,250
1H=v9 199 60 720 1,066 15,990
+ B 130 1,560 5,860 87,900 +B%
i - - 310 3,720 12,050 | 180,750 F - - 170 2,040 3,166 47,490




A5 A&t

FED RIS RiE %18

miE(a) |4ESE(ke)| WEiE(a) [4ES (ke)| MEE(a) |4 ES (kg)
25 95 1,140 620 7.440 28082 | 421,740
A% - - 200 2,400 4,260 63,900
#%E - - 80 960 2,100 31,500
JiEE - - 20 240 800 12,000
i - - 10 120 10 180
Li=iln] - - 70 840 1,560 24,390
3l - - 480 5,760 21,380 | 320,700
k=99 = = 220 2,640 7777 | 116,655
+B = = 1,430 17,160 40429 | 606,435
E 95 1,140 3,130 37560 | 106,398 | 1,597,500




(e INE)
IYEIVX I)E167
EmE | BRERE 120ks/10a [R1& 150kg/10a 118 150kg/10a FEE | RIRE 120ke/10a [R1& 150kg/10a 1218 150kg/10a
i) |4EE(e)| EiE() |4EE (k)| EHE(a) |%EE (ke Hif() |4EE(kke)| HEi(a) |%EE(ke)| HEiE(a) |4ES (ko)
Z5) 30 360 Z240 -
" 20 300 130 1,950 Ak
®E - ®RE 10 150 530 7,950
R iR 20 300 150 2,250
| &l ;{11
£ 80 1,200 200 3,000 i3]
1f-v9 - 1h=v% 60 900 510 7,650
+ B 320 4,800 6510 97,650 + B 240 3,600 5,280 79,200
F 30 360 420 6,300 6,840 | 102,600 ) - - 330 4,950 6,470 97,050
E-DELD LpZEY
EEE [RIR7E 120kg/10a [R1& 150kg/10a $£18 150kg/10a FRE [RIH3% 120kg/10a [R1& 150kg/10a 1218 150kg/10a
HEifia) |HES g)| (e |£EE (k)| () |[FES kg) Eif(a) |4ES k)| Tf(a) [HES (kg)| EiE(2) |FES (kg)]
)| 5 10 120 - - - -
A% a¥F
#i& - - %
R 20 300 150 2,250 | BBiRE
|48 il
i3] I 80 1,200 550 8,250
Ak=v) Ak=v9
| B 70 1,050 1,500 22,500 | B
F - - 90 1,350 1,650 24,750 E 10 120 80 1,200 550 8,250
EBFA Ef(F %
iEmm | BRI 120ke/10a [5i#E 150kg/10a %% 150kg/10a pmps | BURIE 120ke/10a [E#E 150kg/10a $£%8 150kg/10a
Hifia) |4ES g)| TG |£ES (k)| Hif(a) |[FES kg Eifi(a) |HES (kg)| TEfi(a) [£ES (ke)| HEHE() |FES kg)
5 - 250 -
A% B%F
#E - #®E
25 BBiR
L) i
£ 80 1,200 200 3,000 £
Aik=v) 40 600 250 3,750 Ak=v9
+B% 20 240 620 9,300 13,070 196,050 +B% 20 300 120 1,800
5 20 240 740 11,100 13520 | 202,800 F - - 20 300 120 1,800
FhrEAF+T> EEHRINE
pmpe | FRRIE 120ke/10a [R1E 150kg/10a {21% 150kg/10a irmpm | BURIE 120kg/10a [51% 150kg/10a %18 150kg/10a
Eif(a) |HEE(e)| Eif(a) |FEE (k)| EHE(a) |FES (ko) Eif(a) |EES (kg)| TEHE(a) [£EE (kg)| EHE(a) |EEE (ke)|
240 10 120 250 - 10 150 210 3,150
=Y BF 60 900 900 13,500
GRS iR 50 750 355 5,325
il L1} 10 150 350 5,250
£ £ 80 1,200 300 4,500
1=v9 Ak-v9
+B% - 120 1,800 +B%
F 10 120 - - 120 1,800 g - - 210 3,150 2,115 31,725




IFENKIME +&E17085
jEmpE | BRERE 120ks/10a [R1& 150kg/10a $£18 150kg/10a FEE | FRIRE 120kg/10a [R1E 150kg/10a 1218 150kg/10a
HiE(a) |4EE ()| HEiE(a) |[4ESE(e)| HEiE(a) [HES kel HEiE(a) |4ES (k)| WEih(a) |HES (kg)| FElhi(a) |HES (ke

225 2250
B EoLsi
#& #&

R EEH 50 750
=] 12 180 300 4,500 {1}
Il il

Ak=v9 Ak=v9

1 5%

F - 12 180 300 4,500 ) - - - - 50 750

NS BE
FRB £ [RiE 1®
Eif(a) |4ES k)| TEf(a) [HFESE (kg)| EHE(2) |%ES (kg)

2250 50 600 10 150 210 3,150

a¥F - - 80 1,200 1,030 15,450

| #&FE - - 10 150 530 7,950

L] - - 90 1,350 705 10,575

i1} - - 22 330 650 9,750

£ - - 320 4,800 1,250 18,750

1h=9% - - 100 1,500 760 11,400

+ 20 240 1,270 19,050 26,600 | 399,000

i 70 840 1,902 28,530 31,735 | 476,025




(2 ZAES)

pEpE | BURTE 120ke/10a 1%? 11 ;0kg/10a %18 150kg/10a spmy | BURTE 120ke/10a Ej;;ﬁ 120kg/10a %18 150kg/10a
HEiE(a) |4EE ()| HEiE(a) [4ES(e)| HEiE(a) [HES kel HEiE(a) |4ES (k)| WEih(a) |HES (k)| FElhi(a) |HES (ke)|
225 2250 -
B EoLsi
B iR
| &l ;{11
£ 30 360 450 6,750 il 10 120 60 900
Ak=v9 Ak=v9
+8% 8
F - - 30 360 450 6,750 ) - - 10 120 60 900
ZAES BF
R £ [R78 £RiE
Eif(a) |4ES k)| TEf(a) [HFESE (kg)| EHE() |HES (kg)|
2250 - - - - - -
a5 - - - - - -
_ﬂg - - - - - —
fB - - - - - -
A1) - - - - - -
£ - - 40 480 510 7,650
Ak=v9 - - - - - -
4L _ _ _ _ - -
E - - 40 480 510 7,650
(e LWAIFA)
KIE &8 tiEEes
iEm s | BURHE 100ke/10a [5#E 120kg/10a %% 150kg/10a pms | BURIE 100ke/10a [E#E 120kg/10a %78 150kg/10a
Hifia) |4ES g)| EHG |£ES (k)| Hif(a) |FES kg Eifia) |4ES (keg)| TEfi(a) [£ES (e)| () |EES kg)
5 - 250 -
A% B%F
#E #®E
25 BBiR
L) i
LI LI
Fik=v) 40 400 60 720 400 6,000 Ak=v9
+B% 200 2,000 1,650 19,800 12,933 193,995 +B% 120 1,440 540 8,100
E 240 2,400 1,710 20,520 13333 | 199,995 g - - 120 1,440 540 8,100
12k BASH
EmpE | [RRE 100ks/10a [53E 120kg/10a 272 150kg/10a RES | [FFEIE 100kg/10a 3% 120kg/10a $23% 150kg/10a
Eif(a) |HEE(e)| Eif(a) |FEE (k)| EHE(a) |FES (ke) Eif(a) |EES (kg)| TEHE(a) [£ESE (kg)| EHE(a) |EEE (ke)]
240 45 450 Z50 30 300
a% aE
B R iR
il LAl
£ £
-y 100 1,000 30 360 464 6,960 1h=v4 40 600
+ B 1,400 16,800 7,170 | 107,550 +# 150 1,800 590 8,850
F 145 1,450 1,430 17,160 7634 | 114,510 E 30 300 150 1,800 630 9,450




jEmp | BRER1E 100ks/10a ?T%%Eﬁ 1E§0kg/10a 1218 150kg/10a FmEs | IR 100kg/10a ﬁ;;é iOkg/ma 1218 150kg/10a
HiE(a) |4EE ()| HEiE(a) |[4ESE(e)| HEiE(a) [HES kel HEiE(a) |4ES (k)| WEih(a) |HES (kg)| FElhi(a) |HES (ke
225 2250
B EoLsi
B iR
| &l ;{11
£ 150 1,800 1,200 18,000 i3]
1f-v9 60 720 1,060 15,900 1h=v%
+ 8% 140 1,400 350 4,200 550 8,250 8
E 140 1,400 560 6,720 2810 42,150 E - - - - - -
BET EFr
EEE [RR7% 100kg/10a [R1& 120kg/10a $£18 150kg/10a FRE [R5 100kg/10a [R1E 120kg/10a 1218 150kg/10a
HEifia) |4ES g)| il |£ESE (k)| HEiE(a) |[FES kg) Eif(a) |4ES k)| Tf(a) [HFES (kg)| EiE(2) |HES (kg)]
225 25D
aE Lt
|_ABiR |_RB#R
|48 il
i]l] ]l
Ak=v9 Ak=v9
|+ - - - B 20 200 250 3,000 3,020 45,300
g - - - - - - g 20 200 250 3,000 3,020 45,300
B/TIFES [P EN)
iEmm | BURHE 100ke/10a [5#E 120kg/10a %% 150kg/10a pms | BURIE 100ke/10a [E#E 120kg/10a $£%8 150kg/10a
Hifia) |4ES g)| EHG) |£ES (k)| Hif(a) |[FES kg Eif(a) |4ES keg)| TEfi(a) [£FES (ke)| HEHEG) |HES kg)
5 5 20 200
aF a5 120 1,800
25 BBiR
L) i
LI LI
Zik=v) Ak=v9
T8 60 720 720 10,800 +i% 80 960 40 600
& - - 60 720 720 10,800 g 20 200 80 960 160 2,400
2 =0V) HmEEh
jpmpe | R 100ke/10a [5#E 120kg/10a {21% 150kg/10a jgmpm | BURIE 100ke/10a [51% 120kg/10a %18 150kg/10a
Eif(a) |HEE(e)| Ei(a) |FEE (k)| EHE(a) |FES (ke)] Eif(a) |EES (kg)| TEHE(a) [£ESE (kg)| EHE(a) |EEE (ke)|
Z50 - ZEH -
a% AR
B R iR
il LAl
£ £
1h-v4 10 120 40 600 k=9 60 900
+B% 20 240 269 4,035 +B%
& - - 30 360 309 4,635 g - - - - 60 900




jpEm | BRTE 160ke/10a ;%; 11t §0kg/10a %18 210kg/10a sEmy | BURTE 160ke/10a Tf;_g%mkgm 0a %18 210kg/10a
HiE(a) |4EE ()| HEiE(a) |[4ESE(e)| HEiE(a) [HES kel HEiE(a) |4ES (k)| WEih(a) |HES (kg)| FElhi(a) |HES (ke
5 5 80 sk 1| -
B EoLsi
& &
R 20 360 100 2,100 iR 20 360 100 2,100
| &l ;{11
Il il
1f-v9 100 1,500 1hk-v9 10 180 120 2,520
1 - 5%
E 5 80 20 360 200 3,600 ) - - 30 540 220 4,620
pN=E WAltA &Et
e | [R[R1E 160ke/10a % 180kg/10a 1238 210kg/10a FRB £ Rig #
HmiE(a) |4EE ()| HiE(a) |4ES ()| HEiE(a) |4ES kel HEiE(a) |4ES (k)| EiE(a) |4ES (k)| FEiE(a) |HES (ke)|
)| =5 100 1,030 - - - -
¥ a5 - - - - 120 1,800
it 3 | #%& - - - - - -
L 100 2,100 ] - - 40 720 300 6,300
| A&l Li=A11] - - - - - -
i3] £ - - 150 1,800 1,200 18,000
1599 20 360 150 3,150 tik—49 140 1,400 190 2,460 2434 38,130 |
| B aE 360 3,600 4,080 48,960 25832 | 387,480 |
5 - - 20 360 250 5,250 g 600 6,030 4,460 53,940 29886 | 451,710




(e 1)
*27tY/8 X8/3va
REE [RR7E 90kg/10a [R38 90kg/10a 1218 90kg/10a FEE R RE 90kg/10a [R1% 90kg/10a 1218 90kg/10a
HEiE(a) |4EE ()| HEiE(a) [4ES(e)| HEiE(a) [HES kel HEiE(a) |4ES (k)| WEih(a) |HES (k)| FElhi(a) |HES (ke)|
5 1,009 9,081 3,305 29,745 sk 1|
B bt 5
B iR
| &l A1l
£ 20 180 300 2,700 i3]
Ak=v9 Ak=v9
+ 8% 100 900 B 50 450
Eillhz:d 200 1,800 1,131 10,179 i) 12:] 20 180 100 900
E 100 900 1,229 11,061 4,736 42,624 i - - 20 180 150 1,350
LS /54 S SV
FEE [RR7E 90kg/10a 3% 90kg/10a 238 90kg/10a FRE R RE 90kg/10a 3% 90kg/10a 118 90kg/10a
HmiE(a) |4EE ()| HiE(a) |[4ES ()| HEiE(a) |4ES kel HEiE(a) |4ES (k)| EiE(a) |4ES (k)| HEiE(a) |HES (ke)|
225 140 1,260 396 3,564 2250 800 7,200
aE Lt
IR ]
|48 il
i]l] S]]
Ak=v) Ak=v9
| B 100 900 | B
| sigs | S
g - - 240 2,160 396 3,564 g - - 800 7,200 - -
i Bt _
i (a;ﬁf £ (kg) @Ega)ﬁigﬁ kg) @%ﬁa)&ﬁégﬁ(kg)
250 - - 1,949 17,541 3,701 33,309
AR - - - - - -
= _ _ _ _ _ _
B - - - _ - _
LiA1l] - - = = - -
£l - - 20 180 300 2,700
tih—49 - - - - - -
+ 100 900 100 900 50 450
SIER - - 220 1,980 1,231 11,079
& 100 900 2,289 20,601 5282 47538




